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2> 5 4] 104 & 1 9.86 8.90 [ JII Rl [ 9] feehst =¥
> % 4] 109 & 7 2.10 2.10 [ JII BT |17]| fehk AR
> % 4] 109 & 8 1.05 1.05 | JII |l 17| f7ehk AR
> % 4] 109 & 9 1.87 187 | JII Hii 17| fr7ehk AR
> % 4] 109 (10 1.78 178 | JII |l 17| fr7ehk AR
> % 4] 109 ~ 5 1.89 1.89 | JII Hii 17| fr7ehk AR
2> 5 4] 118 5 2.94 2.87 | JII B | 15| fR2epst A %
2 5 4] 122 1% 2 0.59 0.59 [ JII HiT [15] fetk AR
JIETE 8 f&pr 22.08 21.05
2 5% Y] 160 2> 1 6.54 6.54 | /N JII | 22| {2k A
> % 4] 160 X 0.47 0.47 | /N JII | 22| {2k A
> % 4] 177 * 3.29 3.29 | /N I | 11| fREbkst A e %
/NI EE 3 & 10.30 10.30
> % 4] 347 W1 2.01 2.01 | ik A [10] rzeskst =%
> % 4] 347 W 2 4.50 4.50 | fig N 10| fRzemst =¥
2 % Y] 361 W 1 10.66 10.66 | hk N | 7| fREemst =X
2> % Y] 361 W 2 6.91 6.91 | Sk A | 7 [ femst =¥
> % Y] 361 W 3 3.32 3.32 1 ik A |7l fpzetist =¥
FRAFE 5 fEPT 27.40 27.40
> % Y] 419 W 1 6.73 6.73 | H 0 4l frzepst =¥
B 1 f&PT 6.73 6.73
(=):18 17 f&5T 66.51 65.48
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B fk 120 ~ 0.41 0.41 | JII A [23] HiAm  es%
b fk 120 & 1 0.59 0.59 | JIl i [22] etk eox
b fk 120 H 0.84 0.84 | JII Al [22| etk =¥/ %
bk 120 v 1.62 1.62 | JII Hii |22 | fr7ehk PSS
B X 120 ¥ 0.40 0.40 | JII i o2 | fzesk =¥
bk 120 % 2.80 2.80 [ JII HI |22 foehk PSS
bk 120 b 5 0.90 0.90 [ JII Hi [22]| etk PSS
Br fk 120 7> 0.62 0.62 | JII HiI |22| fzehk PSS
Ak 120 K 0.63 0.63 | JII Bl 22| gtk =%
Rk 120 7= 2.22 2.22 | JII Hi |22 figedk PSS
JIEEt 10 f&pF 11.03 11.03
ROk 161 ¥ 2 2.03 2.03 | /I JI | 6| etk =X
ROk 175 7 1 1.11 LIL] /0 JH |9 | meemksr =¥
bRk 175 & 1 2.33 2.33 | /b I | 9| kst =¥
/NI EE 3 f&Pr 5.47 5.47
otk 62 13 1 4.99 4.99 [ & 7 || mzess  =x
RO 62 ~ 2 0.63 0.63 | & 7 |17] muesks  =x
RO 62 ~ 3 1.67 1.67 | & 7 17| maesks =y
RO 62 ¥ 2 3.74 3.74 | & F | 16| giekkst =¥
RO 62 ¥ 4 4.28 4.28 | & 7 |1s| muesksr  =x
Rk 62 ¥ 5 0.51 0.51 | & 7 |[i7] troetkst =%
(=Wmk:ik 6 fEFT 15.82 15.82
bRtk 29 W 1 10.75 10.75 | = B [10] proeksr =%
=i 1 {4557 10.75 10.75
bk 311 % 15.52 15.52 | 7 3k | o pzesst =¥
bRtk 332 W 5.86 5.86 | 71 Sk | 10| frgekkst 2%
k& 2 f&FT 21.38 21.38
otk 351 1F 13.51 13.51 | ik A | 10| maekksr =
Rtk 364 1F 16.52 16.52 | Jit A | 8| gzeskst =¥
RS 2 f&FT 30.03 30.03
e 397 W\ 7 1.41 1.41 | B 8 9| @tk =%
R 410 H 16.53 16.53 | B A |1 seesksr eox
R R 418 A1 21.51 21.51 | H A | 8| mzems =%
R 419 L1 3.06 3.06 | H A |13] frgekst =%
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bRk 419 F 2 8.83 8.83 | H A |i3]| zemsr =¥
HE 5 f&PEr 51.34 51.34
bRk 420 A 1 4.83 483 wE B | 9| muemst =¥
bRk 429 1 4.44 444 B B | o | muemkst =¥
= it 2  fEpr 9.27 9,27
ot 31 f&ipr 155.09 155.09
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B £k 2 ¥4 103 b 4 5.22 5.22 1 JII Hij [iol moepst =%
JIIEIE 1 e 5.22 5.22
bk 2 %8 159 I 0.45 0.45 [ /v JII | 25| faetkst =%
bk 2 %8 173 1% 2 3.77 3.77 1 /b I | 23| frzesk X
B 2 % 173 1% 0.70 0.70 | /N JII 21| freesk X
B 2 % 173 1F 1 0.52 0.52 | /1 JII 21| @bk eox
/NIEE 4 &P 5.44 5.44
bk 2 % 212 b 1 0.78 0.78 | F P& [21] %4k Z3
Bk 2 58 212 K 0.50 0.50 | 7 P& 25| frsckk Z3
P 2 &P 1.28 1.28
bk 2 % s 5.03 5.03| & 7 24| etk Z3
Br k28 s 1.68 1.68 | & 7 [24] muerk  eox
Bk 2 58 31 & 7.01 7.01 | & F 22| ek Z3
(=Wak:is 3 T 13.72 13.72
bk 2 % 26 &k 2 4.06 4.06 | = & [20| frzehk PSS
Bk 2 % 26 & 3 0.54 0.54 [ = I | 20| figehk PSS
Bk 2 % 26 K 4 0.34 0.34 [ = I | 20| figehk PSS
bk 2 % 26 &L 5 0.22 0.22 | = I | 20| figehk PSS
Bk 2 FE 35 <1 2.20 2.20 | = M 10| freesk Z3
bk 2 % 35 <1 1.50 1.50 [ = 3 [10] muerk  eox
B 1k 2 %8 39 > 1 0.61 0.61 | — 3 |20| fresk AFE
B 1k 2 %8 39 > 1 0.36 0.36 | = M 20| etk eox
=3RE 8 f&PT 9.83 9.83
& 1k 2 ¥H 309 1z 14.14 14.14 | 20 3k |19] froeist =%
Kkt 1 &P 14.14 14.14
Bk 238 397 W\ 1 4.89 4.89 | H i\ [21] sk 2F
Bk 238 397 3 1.87 .87 | H i1 [21] frdesk 2F
Bk 2 58 418 Xk 1 3.16 3.16 | H JA 21| ek Z3
Bk 2 58 418 X 3 4.52 4.52 | H A [21] mEtk Z3
bk 2 % 418 X 5 1.49 1.49 | H 8 [21] ek PSS
bk 2 % 418 £ 6 4.03 4.03 | B 8 [21] ek PSS
s (% 2 %8 418 72 0.66 0661 H 8 |21l maephst =%
BiAgt 7 T 20.62 20.62
bk 2 % 425 4 1 3.91 3.91 [ im WP |23 fRecmk PSS
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Br k2 %8 425 5 2 1.56 1.56 | i Bp [23| fR#edk X
bk 2 %8 425 12 7.61 7.61 | im WP |oa| fRoemk X
B % 2 8 425 ¥ 0.71 0.71 | & B o3| fgedk 2X
EEE 4 &P 13.79 13.79
(=18 30 fEPT 84.04 84.04
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